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No:

PvA {Pasim+ 2)

(a) r.hrs_p =90% = 05, x-18

(b) =20, p=0.2, q=1-p= 1-0.2208 [c) plhttogel) =957 =035

pl=18) = ®Cs (02)*(1-09) "™

) Meon, Z=ap=20(0:2) =4

P(Mas) = 1-0,95 £ 0,05

s 8. (02)%(0,1)°

i) Yariancer hpg = 20(0.2)(0.8) =3.2

plxz15) = (1-0,08)° " (0.05)

A plx=18) = 0,150

=(0,95)" (0.05)

plx=15) = 0.0244

2) | Tofal pefieats, 1 = B04150 4300 +580+ (18 + 1288+ 1378 = 4434
(a) Plw<x<s) (b) Plx<50) {¢) Pl4ogx<ga) @) Plxx10)
. 8o . 6041504300 _ 200+580+618 128841378
~ 4434 4434 T b43y T
= 0,1308 = S = ree = 8-
= 0.11sT = 03514 = 06013
3) relo, P-% = 0,6
: [a) Plx=6) = °Cel0.6)¢ (1-0.6)""° (b) Px<a) = 1-P(x=) ~P(X=10) (o) Goometric duhribution used .

= 1C, (0,6)¢ (0.4)*

P(x=9) = °C4(0.6)* (04)' = 0,0403

P(x=4) = (1-0.6)*" (0.6)

4 P(x=6)= 0,2508

P(x=10) = '%C,4(0,6)°(0.4) ° = 0,0060

= (0.4)%(0:8)

& P(X<9) = |~0,0403-0,0060

& P(X=4) = 0,038¢

P(x<a) = 09537

) (o))  p=25. 8=6
3) P(x<to) = P(z< ] i) Plic<x<3) SN i) Plx>x)=33% =033
=P z<.T) /\ £ P(E%?E(z{a'—;-s-) }ﬁ\ 0£-0.33 =0.17T
2pe<as) [ |\ cplasce<) [\ fromon emom [ °
= P(z>25) %5—0—\2 = 04332403413 Ik \i Plz>044) =0,33 /_
= 0,5-04938 4 Pl16<X<31) = 0M45 217,467, ° e X cquy
5 P(x<10) = 0,0062 3 0,627 » Rishak's score , X=04u(6)+25=21.64
b )% I= (0-1)k %, l<x<w i)  P(X3IS) = frea o)
lois ' hele T |0, oMleruise e flotd) gl
Lis | 7%
1 [ § =% : ‘
w20 Wﬁghﬂb) . P(x;{5)= 08333 14 1S 0 X




No:
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a. xisa I:?nomia‘ nmfonx mH’aUe, cack *n'q’ ftwhls-' i

T E T P — T i s I

b. i lh:’z’ PZGO%KOJG

i one of fwo mutually exchsve outeomes, whick,

Pixey) = RCQ(O.G)!'( f-0.6)n-q

ore falpvfnps or a’esf:};p models.

= 11 (0.6)" (0,4)2

o P(x=4) = 0.0420

. Plt<X€r) = P(X=4) +P(X=8) +P(X=6) 4 P(X=T)

d  azlZ, P:‘KJZ 0.4

from b, P(x=t)=0,0420

Plx=2) = G, (0.4)"(1-04)2

P(x=5) = “Cs(0,6)(04)" = 0,009

- G, (04 (0

- PX=6) = " (0.6)(04)" = 0.1766

s P(x=2) = 0,0639

P(x=1) = ¢, (0,6)' @49 = 0,2270

& Pl <X <7)=0.0420+40.1009+0.1766 40,2270

5

= 0,546S
(b)] 0. x represonts qeomelry rondow. b, x=6, pz3%=0.03 | . Plx<5) = Ploc=i)+Plxz2) + P(x=3)

varable, ok biol reaule . Plx=6) =(1-0m)7(008) | 4Plx=)4Plxss)
oe of tuo possible autcomes: = (04217)° (0.03) P(x=1) = (0.97)°(0,03) = 0,0300
in. error orln,o ervor: ' s e P_(xtﬁ) = (,0268 P(x=2) = (087 (0.03) = 0.029!
| P(x=3) = (0979*(0.03) = 0.0282
P(x=4) = (097)°(0.03)= 0,024
P(x=5) = f0a1)%(0,03) = 0,026¢
" 4 Plx<s) = 0:0340,0291 40,0282

10,0214 + 0,026
- Plxs5) = 00413
I Y e e A (b) Plzsex<an) T\
Plx>24) = P22 %) / \ ;P(&‘%z‘lgzg%’-) /

= Pz2%5°) / \
= P(z72) i Y

= P(25<€7 £35) / | \
£ 0;'4"‘?8"0;“?33 / 3 &

. i /x
z 0.5 -04712 0 LA

v P(25<x<€21) = 0,0060

4 P(Xz24) = 0,0228




